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OOP:

e: 30 o
Choose the correct answe r from the following:

following is true about the anonymous inner

b. Objects c:

d. It has no clas

nterface wit h no helds or ||i|'(.’ﬁ"|(n‘kzi_kl is ki NOWN As

a. Runnable | Intert:

¢. Abstract Interface

Identify the mo«
a. Public

rival

LException created by 1 bloc s caught in which block?

bD. throw

d. none
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19. What is an inline function?

20.

a. Whole program
¢. The main function

a. A function that is expanded at ea
call during execution

¢. A function that is not checked for
syntax errors

Which of the following feature is used
default argument?

a. Encapsulation

c. Abstraction
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